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BOTANY — GENERAL
Paper : SEC-A-1 and SEC-A-2

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

. Answer any ten questions : 2x10

(a) What is ‘Acclimatization’?

(b) What is recombinant DNA?

(c) What is emasculation? Write one method of emasculation.
(d) What do you mean by Autotetraploid?

(e) Write two importances of heterosis.

(f) What is central tendency?

(2g) Name two transgenic plants.

(h) What is test cross?

(i) Mention two applications of mutation breeding.

(j) Write two applications of biometry.

(k) In a sample the frequency is 50. How do you determine the median?
(I) What do you mean by standard error?

(m) Mention two merits of mass line selection.

(n) What is intergeneric hydridization? Give an example.
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2. Write short notes on (any four) : 5x4

(a)
(b)
(c)
(d)
(e)

Genetic basis of Heterosis

Importance of Hybridization in plant breeding
Advantages and disadvantages of Cloning
Importance of tissue culture in crop improvement
Seed Bank.

3. Answer any four questions :

(a)

(b)
(c)

(d)

(e)

Define Chi-square Test. Describe Chi-square (%2) Test method of testing ‘Goodness of fit’ with the
help of an example. Mention the importance of the test. 1+7+2

Write down the theories of Heterosis. Write the process of Mutation Breeding. 5+5

Give an account on the role of Recombinant DNA Technology in Agriculture. What are the basic
steps of Plant Tissue culture? Write the importance of artificial seed. 6+2+2

The number of pods of 30 pea-plants in a pea garden are as follows : 11, 15, 17, 16, 12, 16, 17, 16,
17,19,12,13, 14, 16,17, 18, 22, 21, 18, 17, 16, 20, 17, 19, 16, 19, 16, 17, 17, and 14.

From the above data calculate the Mean and Standard deviation. 7+3

What in Natural Selection? What are the merits of pure line selection? Write the differences between
mass selection and pure line selection. 2+2+6
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Paper : SEC-A-2
(Biofertilizers)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

. Answer any ten questions : 2x10

(a) What is ‘nif’ gene?

(b) Define biofertilizer.

(c) What is heterocyst?

(d) What is non-biodegradable waste?

(e) Whatis Algalization?

(f) What do you mean by VAM?

(g) Write scientific names of two nitrogen fixing cyanobacteria.
(h) What is vermicomposting?

(i) State the role of phosphate solubilizing bacteria in agriculture.
(j) What is Starter culture?

(k) What is ‘Diazotroph’?

() What is fish meal?
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3.

(m) Write the systematic position of Azospirillum.

(n)
(0)

(a)
(b)
(c)
(d)
(e)
(H

What is rhizosphere?

Write scientific name of one symbiotic and one non-symbiotic nitrogen fixing bacteria.

. Write short notes on (any four) : 5x4

Organic farming

Use of Azotobacter as biofertilizer

Role of mycorrhiza in agriculture
Identification of Rhizobium

Role of blue-green algae as organic fertilizer

Application of phosphate solubilizing microbes in agriculture.

Answer any four questions :

(a)

(b)

(c)
(d)

(e)

(M

Write down mass multiplication process of Rhizobium biofertilizer by using a flow chart. How is it
applied to the field? 6+4

What do you mean by actinorrhizal symbiosis? Briefly describe the infection process and nodule
formation in an actinorrhizal species with labelled sketches. 248

Write short notes on recycling of biodegradable municipal and industrial wastes. 5+5

What is arbuscular mycorrhiza? How heterocyst and vegetative cells of cyanobacteria can fix
nitrogen? State the role of genetic modification in bio-farming. 2+4+4

What is Azolla mat? Briefly discuss the cultivation process of A4zolla. Mention its advantages in
rice cultivation. 2+5+3

Discuss the effects of Azotobacter inoculum on crop plants. Write the steps of mass production of
Azotobacter. 4+6



